D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH A REMAINDER Rame:
Time: Score: y—
211) 8401 = 6 = 26) 5189 + 3 =
212) 3813 = 3 = 27 22510 +- 8 =
213) 12858 =— 2 = 258) H8363 = 6 =
21 23599 + 7 = 29 2570 +2 =
215 65329 + 7 = 2607766 + 3 =
216) 11801 = 4 = 261) 18265 = 2 =
27 4262 = 1 = 262) 21807 =7 =
2u8) 192 = 1 = 263 3153 +1 =
219) 13803 = 2 = 260) 32389 — 7 =
250) 38 = 2 = 265) 42494 + 6 =
1) 49121 = 9 = 266) 18866 + 3 =
252) 036 = 4 = 267 15086 = 2 =
253 95193 =+ 10 = 269 21903 + 3 =
51 12128 =— 2 = 269) 84548 = 9 =
255 Q6747 = 4 = 270) 36360 - 9 =
Mathematics: Division - Level § - Horizontal - Set 4 10 culu
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